
,,.w6rttit1NAu.,oiiiM, FN S !oN:s,. {N, B)
Metric lmper ia l

o uTsl,D -Ei] : DIAM]ETI_ER, i .(o:D)l
Metr ic lmper ia l

1 5 m m / 2 2 1 " 3 m m 271 "

%" 26 .9mm 1 1|rc"

25mm 1 " 33 .7mm I  , , lp

32mm 1 ./;', 42Amm I  11 l t a "

40mm 1 % " 48 .3mm 1 2slsz"

50mm 2" 60.3mm 2 3la"

65mm Z / 2 7 6 . 1 m m

88 .9mm 3 % "
3 % " ' 1 0 1 . 6 m m +

1 0 0 m m 4" 1 1 4 . 3 m m 4 % "

125mm 1 3 9 . 7 m m 5 % "

1 5 0 m m 1 6 5 . 1 m m 6 % "

UNLESS OTHERWISE SPECIF IED ALL  ELGATE COMPONENT S IZES RELATE TO NOMINAL  P IPE  D IMENSIONS (NB)

GALVANISED

. t '

CODE I

T 1 5 1 5
rzu5
r2020
r2025
r2520
r2525
r2ffi2
r2540
r3225
r3232
I3240
T3250
r4025
r4032
T4040
T4050
T5025
T5032
T5040
T5050
T6550
T8025
T8032
T8040
T8050
Tl 0032

CTN

140
100
100
80
80
80
60
50
60
50
40
40
40
40
30
25
40
30
25
25
1 5
30
25
25
1 5
25

6 x 2 0
4 x20
4 x20
7 x 1 0
7 x 1 0
7 x 1 0
5  x  1 0
4 x 1 0
5  x  1 0
4 x 1 0
3  x 1 0
3  x  1 0
3  x  1 0
3  x  1 0
5 x 5
4 x 5
3 x 1 0

THRU BUTT KG . . ' r t ,A . .  : ' , : , ,8; , . ; ' : ' ; , ,1: , : i l .  :

18 35 63 29
14 33 62 27
17 42 73 29
14 45 75 33
12 44 82 33
17 47 78 28
22 60 85 34
25 66 101 50
21 49 95 38
22 56 99 38
21 69 110 47
24 78 114 54
17 65 104 40 1
19 62 115 49
16 67 115 50
16 76 120 55
19 65 1 '18 39
17 66 124 47
16 69 128 52
18  77  130  51
19 89 157 60
19 64 152 41
25 72 160 55
28 73 162 |' 5t
21  89  169  56
25 72 176 55

1 5
20
20
20
25
25
25
25
32
32
32
32
40
40
40
40
50
50
50
50
65
80
80
80
80
100

x'1

20
20
20
'10
'10

1 0
1 0
1 0
1 0
1 0
1 0
1 0
1 0
1 0
5
5

1 0

15 l\46 x 45
1 5  M 8 x 5 0
2 0  M B x 5 0
2 5  M 8 x 6 0
2 0  M 8 x 5 0
2 5  M 8 x 6 0
32  M10  x  70
40  M10  x  75
25  M10  x  60
32 M10 x 70
40 M'10 x 75
50 M10 x 90
25 M'10 x 60
32 M10 x 70
40 M'10 x 75
50  M10  x  90
25  M10  x  60
32  M10  x  75
40  M10  x  85
50  M10  x  90
50  M12  x  100
25 M10 x 70
32  M10  x  85
40 M10 x 85
50  M12  x  100
32  M10  x  85

4 X

4 X

2 x

4 x
4 x 5
2 x 5
4 x 5


